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The second pass, which is started with musixflx jobname, determines optimal values of the
elemental spacing unit \elemskip for each line, so as to properly fill each line, and to spread the
piece nicely over an integral number of full lines. This routine was written in FORTRAN and now
converted to C rather than TEX, the main reason being the lack of an array handling capability in
TEX.

musixflx reads in the file jobname.mx1, and writes its output to jobname.mx2. The latter
file contains a single entry for each line of music in the reformatted output. The key piece of
information is the revised value of \elemskip for each line.

Next, the file is TEX-ed again, by entering etex jobname. On this third pass, the jobname.mx2
file is read in, and the information is used to physically define the final score and embed the page
descriptions into a dvi file.

You may wonder how the same command can cause something different to happen the second
time it is issued. The explanation is that MusiXTEX checks for the presence of jobname.mx2. If
it’s not present, the first pass is executed; if it is, the third pass. Obviously if you’ve made some
corrections that affect any horizontal spacing, you must remember to delete the old jobname.mx2

and then rerun all three passes, or build or use a batch script that does so.

Here’s an example. Here, no value for \elemskip is explicitly specified, so MusiXTEX assign a
single, default value. After the first pass you might get the following output:

G22224 ˇ ˇ ˇ ˇ 6̌ ? (ˇ 4̌ 6̌
G222 6̌ 2ˇ : ˇ ˇ 2Ä̌Ä̌ 6ˇ 6̌ ÈÈÉÉ̌ ˇ ŋŋ̌
G222 trˇ tr

ˇ ˇ >
Note that the space after every quarter note is the same, and that lines are not justified. After
running musixflx and TEX-ing the second time you’ll get:

G22224 ˇ ˇ ˇ ˇ 6̌ ? (ˇ 4̌ 6ˇ 6̌ 2̌ 7

G222 6 ˇ ˇ 2̌ÊÊ̌ 6̌ 6̌ ÈÈÉÉ̌ ˇ şş̌
trˇ tr

ˇ ˇ >
Now MusiXTEX has determined a number of lines (which is different from the original number),
the lines are justified, and if you look carefully you can see that the space after quarters in the
first line is smaller than in the second. This example was coded as:

\hsize=100mm

\generalmeter{\meterfrac24}%

\parindent 0pt

\generalsignature{-3}

\startpiece\bigaccid

\NOtes\qu{ce}\en\bar

\NOtes\qu{gh}\en\bar


